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PART

1. The Shiva temple of Charchoma belongs to

which of the following period?

(1) Kushana Period  (2) Vedic Period

(3) Gupta Period (4) Mauryan Period

(5) Question not attempted ' :

- Match the major Centers of Ramsnehi Sects in

Rajasthan with their Founders and select the
correct code -

Center Founder
(I) Ren (A) Ram Charan
(II) Shahpura (B) Ramdas
(ITT) Sinhthal (C) Dariyav Ji
(IV) Khedapa (D) Hariram Das
Code-

(1) (D-(D), ()-(B), IM)-(A), (IV)-(C)
@) (D-(B), (ID-(A), (IID-(D), AV)-(C)
@) (D-(C), ID-(A), (ID)~(D), IV)-(B)
@) (D-(C), ID~(D), (II)-(A), AV)-(B)
(5) Question not attempted

- Which of the following pair (Newspaper —
Publication Place) is NOT correctly matched?
(1) Samachar Martand — Jaipur

(2) Jaghitkarak — Kota

(3) Vidhyarthi — Udaipur

(4) Mazharul Saroor — Bharatpur

(5) Question not attempted

- The artists of which of the following folk drama
are called ‘Khelar’?

(1) Tamasha (2) Swang
(3) Nautanki (4) Rammat
(5) Question not attempted

- Under whose leadership was the Rajasthani
branch of Secret Revolutionary Organization
‘Abhinav Bharat Samiti’ established?

(1) Brij Mohan Mathur
(2) Damodar Das Rathi
(3) Arjun Lal Sethi

(4) Kesari Singh Barhath

b = =
: o
(5) Question not attempted ; g !—.3';3

-A

1.

T &1 B Ay 9 § 9 5w &9 9
geferd 87

(1) FuToT Bt (2) Afes @rad
@) TG BT @) 91 P
(5) argaiRa ueH

2. ORI W YEER] e P UHE Bl bl

3.

HE B T DY —

i TITIh
(D) T (A) ITHERT
() ¥EYRT  (B) IME™
(I fgera  (C) sRama it
(V) TS (D) 8RR™ ™
g :

(M (D-(D), (ID-(B), (ID)~(A), IV)-(C)

(2 (D-(B), (ID-(A), (ID-(D), (IV)-(C)

@) (D-(C), (ID-~(A), (II-(D), (IV)-(B)

@) (D-(C), (ID)-(D), (IID-(A), (IV)-(B)

(5) srgxiRa ue

frfafied 4 & @=ar g9 (GaRR 95 —
BRI wIe) gHferd T8 87

(1) ¥R ARTS — AR

(2) STfEaPRS — BieT

(3) faemfi — SEayR

(4) 7EPd TR — ARAYR

(5) 3gaRd ueA

e 4 9 59 A9 ACd & AR W'
FEATT &7

(1) =T (2) =T
(3) Hrca 4) vg
(5) SrIRd g

oreRI I e 4 9 e Aga 9 wenfid
b _
(1) g1 e =R

(2) TMIex g9 Wt

(3) o e ¥

4) $9d g IREs

(5) argaiRa wee’
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6. Arrange in ascending order the various festivals 8- ORI ¥ IS BF arel A= Swal @i
organised in Rajasthan according to the ITMRET PefsR b JFAR AREN 5  FaRerd
Gregorian calendar and select the correct code - o U el e P N -

(I) Desert Festival bk
(I) Marwar Festival (ID) ARare Scud
(Il) Matsya Festival (I 7R ST
(IV) Mewar Festival (IV) #arg Ted
Code - @C —
(1) (1D, (1), (D), (IV) (1) (ID), (1), (I, (IV)
(2) (1), (I, (IV), (ID) (2) (1), (), (AV), (II)
(3 (D), V), (1D, (11D () (D, (IV), (ID), (11D
(@) (D), (IV), (IID), (11) @) (@), (IV), (1), (ID)
(5) Question not attempted (5) Srg=iRa g
7. Which of the following pair (Sati Tradition 7 f/9 % & SIFaT ™ (F v S~ a¥ —
Abolition Year — Princely State) is NOT R lj'flﬁ'rr )
correctly matched? ) 186;—1@) %) %1'862 <ot
(1) 1865 — Udaipur  (2) 1862 — Kota el
(3) 1845 — Jaipur (4) 1860 — Jodhpur (3) 1845 — AR (4) 1860 — SAIYR
(5) Question not attempted (8) ST e
8. Which of the following woman provided 8. fasiforar fam snicie™ @ <km =1 & 4w
leadership during Bijolia Peasant Movement? A 7 Aga yeH fdar?
(1) Narayani Devi Verma (1) IRl < gHt
(2) Anjana Devi (2) aiorT <4
(3) Bhagwati Devi (3) Frad 24
(4) Rama Devi Ojha 8) w7 <& aE
(5) Question not attempted (5) SraRa T%
9. Which of the following painting style is related ~ 9- 71 # 9 = fF@wer Il “<zi= FNRET
to “Darshan Chaubeesia™? 3 Hafg g7
(1) Nathdwara (2) Sirohi (1) FrIgRT (2) RRIE
(3) Uniyara (4) Samod (3) SR @) g
(5) Question not attempted (5) sraRa T

10. Which of the following place is famous for the  10- 5/ & & ®IHAT @M “SFNT’ THE 9941 D
manufacturing of utensils called “Kagzi”? et @ fou ufig 87
(1) Jaipur (2) Sikar (1) SagR (2) v
(3) Alwar (4) Bayana " (3) TR (@) s
(5) Question not attempted F1 (5) sraRa Te

11. Which religious centre is famous for three rive?s.':“ 1. &= 71, dF fharers, dF wa ik &9 <9
three rituals, three places and three gods? % fog s affe o uRg 27
(1) Beneshwar (2) Banganga (1) JovqR (2) FOFTET
(3) Lohargal (4) Pushkar (3) arerta (4) g&v
() Question not attempted (5) srpaRa T

12. Which of the following instrument is a 12- 91 % 9 D41 91" eilal, TG U9 W‘l’s‘
combination of Algoza, Flute and Shehnai? FT FHfad w9 87
(1) Mashak (2) Pungi (1) 7P @) gir
(3) Morchang (4) Satara (3) I (4) warT
(5) Question not attempted (5) IrgaRa we
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13.

14.

S8

16.

17.

18.

19.

20.

Which of the following Fort has 84 hill routes to
reach it?

(1) Chittorgarh Fort  (2) Ranthambore Fort
(3) Mandalgarh Fort  (4) Bayana Fort
(5) Question not attempted

Which of the following pair (Prajamandal —
Leader) is NOT correctly matched?

(1) Bharatpur — Gopilal Yadav

(2) Bundi — Heera Lal Kothari

(3) Alwar — Bhavani Shankar Sharma

(4) Kota — Nayanuram

(5) Question not attempted

Who among the following first started the
Guerrilla Warfare System in Mewar?

(1) Kumbha (2) Pratap

(3) Raj Singh (4) Maldeo

(5) Question not attempted

Which of the following musician belonged to the
Atrauli Gharana of classical music?

(1) Surat Sen (2) Khairati Khan

(3) Vilas Khan (4) Amir Baksh

(5) Question not attempted

In which of the following district is the tourist
place ‘Kela Pani’ located?

(1) Hanumangarh (2) Barmer

(3) Banswara (4) Udaipur

(5) Question not attempted

The main area of Arjunayan Janapada in
Rajasthan was -

(1) Tonk - Niwai

(2) Alwar - Bharatpur

(3) Nagri - Chittor

(4) Ganganagar - Hanumangarh
(5) Question not attempted

Who is the hero of the popular folk tale
‘Galaleng’ in Vagad Region?

(1) Gulal Singh (2) Dhola

(3) Jai Singh (4) Dungji.

(5) Question not attempted

5
.

Customs of Banwara, Khodia and Badhar in
Alwar are related with -

(1) before formal education

(2) death

(3) birth

(4) marriage

(5) Question not attempted

13.

14.

15.

16.

17.

18.

19.

20.

fret ¥ & v o OB TEE B i 84 TR

I B2

(1) feciteme g () Yook gif
(3) AvserTe g (@) T g
(8) argaRa ye

?;ﬁzﬁwgﬂ(m =) gAfera
?

(1) WRaR — A oA FTEd

(2) g1 — &R TSl BIoN

(3) AR — WA HR I

@) Pler — TaRH

(5) SR wed

g # 9 fes dars # wduem IRew
g 3R™T BI? -

(1) g (2) gam

(3) w1 g (4) #ATeIGT

(5) IrgaRa weA

e § 9 e wider Il @i @
3RIC TR ¥ HafRya or?

(1) §=a o (2) &R @

(3) faemra @t (4) 3R qa=r

(5) SrgaRa ue

o= # 9 e e 3 wied e ‘& gl
Rera 27

(1) &S (2) TR

(3) srHaTST (4) SR

(5) argRa g

at:hm SIS H OIORIE A & &
(1)a’rc5 REIE]

(2) 3reTaR — WRAYR

@) T — freire

(4) TR — §FATTTG

(5) IR g

IATS U # Jaferd dld BT TeTel T & ArId
DI 57

(1) e g () Qe

3) v ¥ (@) s

(5) argaRa ue

%m#aﬂfrm @‘rﬁmaﬁ'\'wﬁvﬁw@a
(1) 3iraRe BFrer 9 e

(2) 7 @

(3) 9 ¥

(4) faar ¥

(5) SR we
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21.

22,

23.

24,

25.

26.

Which of following statement is NOT correct

about the Dag-Gangdhar upland of Hadoti

Plateau?

(1) It is the smallest physiographic unit of
Hadoti Plateau.

(2) Itis situated in the South-Western part of the
Hadoti Plateau.

(3) The upland rises up to 450 metres.

(4) The river Chambal forms its South-Eastern
boundary.

(5) Question not attempted

‘The Wildlife Management and Desert

Ecosystem Training Institute’ in Rajasthan is

located at - ;

(1) Kurjan (Jodhpur) (2) Jhalana (Jaipur)

(3) Akal (Jaisalmer) (4) Talchhapar (Churu)

(5) Question not attempted

Which among the following is NOT a sandstone

producing area of Rajasthan?

(1) Dang Area (2) Hadoti Area

(3) Sirohi Area (4) Jodhpur Area

(5) Question not attempted

Which among the following district had lowest
percentage of Scheduled Tribe population to its
total population in 20117
(1) Sri Ganganagar  (2) Churu

(4) Hanumangarh

(5) Question not attempted =

(3) Nagaur

Which one of the following pair (Conservation
Reserve — District) is NOT correctly matched?
(1) Ganga Bhairav Ghati — Banswara

(2) Amrakh Mahadev — Udaipur

(3) Baleshwar — Sikar

(4) Hamirgarh — Bhilwara

(5) Question not attempted

As per Census 2011, urban literacy rate in
Rajasthan was - :

(1) 79.7% () 79.1%

(3) 77.6% (4) 80.9%

(5) Question not attempted

21.

22,

23,

24,

25.

26.

Bl SR &I SR S & qraw

4 faefeaiad W @i o we T8 8?

(1) I8 TRKT WOR & ¥ed VIS qaeaD
3PS & |

) 7' TR YoR @ SRo—ufdgd W #
3raRerd 2 |

(3) Ig ST 450 Hex TF Sl 2|

(4) Ter ) g9l SferoT—qdf W g9 2

(5) srgaRd we

ISTRIE H gRIoid J9=eH Ud Y qika=

uf3teror e sEaferd & —

() greTl (GER) () ST (SAYR)
3) APpe (W)  (4) TEBIR (I%)
(5) Srg<iRd we

o & & ISR &1 P 85 aieqaT
R & SRS 8] 87

(1) ST &= (2) sIEKN &
@) RRYE &= (4) SR &=
(5) rgaRa weA

RrferRae et & few frer § 2011 ¥ gt
S § AT SISt B SITaE B
gfereTd |aRt HH 77

(1) st TR 2 7w

(3) ArR (4) sgATTTe

(5) srgaRa wed

efeiRae # &1 ST 3 (SRfEa e — e
gaferd TE &7 '

(1) 777 ¥=q 91T — qraareT
(2) 3Ry HElRd — ISR

(3) greivay — ey
@) TR — HearsT
(5) srgafe T

SIET 2011 & STER, VORI B el
HIERT ¥ AT —

(1) 79.7% (2) 79.1%
(3) 77.6% (4) 80.9%
(5) srgaiRa we
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27. Among the following, which group of districts is ~ 27- f=iforRed & & ®Fw el &1 w9 <™l
mustard producing? SAEH &7
(1) Udaipur, Sirohi, Dungarpur (1) SR, RRE, TR
(2) Ajmer, Nagaur, Pali (2) 3oFR, FIR, TTel
(3) Sri  Ganganagar, Sawai  Madhopur, (3) =it TR, |aTS WEIYR, WRAgR
Bharatpur 5 :
(4) Pratapgarh, Banswara, Dungarpur ® 2 . 3
(5) Question not attempted (8) srgafd 7
28. Match List-I with List-II and select the correct ~ 28- -1 &1 FAI-II ¥ FAferd DIy AT =il
answer from the code given below — & T g | |E SR BT 9T DG —
List-I List-IT -1 TH-II
(Type of Soil) (District) e )
(A) Riverina (1) Kota (A) RafFr (i) ®reT
(B) Gypsiferous (11) Bfmswara (B) Aoy (i) areareT
A tegioil {inl; Bikancr (C) A & (ifi) AR
E:Do)dI;Illly Soil (iv) Sri Ganganagar (D) Ty 7ar (iv) & TR
G e A () (AXG), B)-Gi), (C)-Gii), (D))
rlgnidialet e ) 2) (A)i). B)-(i). (C)-(iv), (D)-(i)
B) (A)-v), B)-(id), (©-W), D)) ®) (A)-iv). B)Gii), (C)-(ii), (D)-)
(4) (A)-(iii), (B)-(ii), (C)-(1), (D)-(iv) @) (A)-(iii), (B)-(ii), (C)-(i), (D)-(iv)
(5) Question not attempted (5) IrgaRa W
29. Which one of the following pair (Solar Park —  29. f=feiiRaq W & SI9a1 ¥ (AIeR P — B
Total Production Capacity) is NOT correctly Teure _‘T}‘%ﬂ :
matched? s Sfef 57 4
(1) Phalodi-Pokaran — 750 MW (1) BTG — 750 FMETC
(2) Bodana — 2000 MW (2) sre™T — 2000 WTETE
(3) Nokha — 925 MW (3) wirEr — 925 FTEre
(4) Pugal — 1450 MW (4) g — 1450 #ITETE
(5) Question not attempted (5) Srg<iRe U=
30. Which among the following pair (River — Place 30 famfaRad # & si=ar g (A4 — SRy wra)
of Origin) is NOT correctly matched? gHford 81 57 .
(1) Rupangarh — Sambhar Hills (1) TG — FPR TeIfedl
(2) Sota - Bairath Hills ,_ (2) HraT — )70 gEIel
(3) Kantali — Khandela Hills Saee iy (3) ®icell — WSl gsIfsAT
(4) Ruparel — Udainath Hills it () ¥IRS — ST UBI Sl
(5) Question not attempted . (5) srafa wed
31. In the Financial Year 2024-25, what percentage  31- faxiig 99 2024-25 ¥ IR HI—ARfET ST
increase has been madti:1 in turnovc:l('i by Rail:]'f_aiv,thag P o SEy g forer g g9 3 19
Co-operative Dairy Federation and its affiliate - : s
Distr?ct Milk Urblrions as compared to last faciia a B ger § SR | fe
Financial Year? . qﬁ‘g o 87 ‘
(1) 18.4 percent (2) 24.4 percent (1) 18.4 ufcrera (2) 24.4 yferd
(3) 5.4 percent (4) 15.4 percent (3) 5.4 gferera (4) 15.4 yfrera
(5) Question not attempted (5) SR w=A
9 - © Page 6 of 32




32.

Who was awarded with the Chief Minister’s
Excellence Award 2025 at the Lok Seva Diwas
2025 ceremony for the innovation in the field of
education in the individual category?

(1) Dr. Dheeraj Kumar Singh

32. ey WiaT e 2025 TARYE ¥ AR o

fob%r Rrem & &= 7 TR ¥g qErEEl Saped
QREBR 2025 | R fbar Tar?
(1) 1. IR F9R Ri

(2) Mrs. Shubham Chaudhary (2) St et e
(3) Ms. Pragya Kewalramani (3) it I=T DHaeRH
(4) Mr. Anil Kumar Beniwal (4) o el {AR SeiraTa
(5) Question not attempted (5) 3rgxiRe we
33. Consider the following statements regarding 33 IrsqqTeT G2 Wed (RroTer femEn) & Hareg
communications between the Governor and the Rl e ;
House (Rajasthan Legislative Assembly) - i P TR faER B -
Statement (I): Communications from the FUT (I): WSG9l ¥ e DI |are Isgqrel
Governor to the House shall be .
made to the Speaker by the g1 R by §u fafea waw
written message signed by the ERT 31l BT fbar ST |
Governor.
Statement (II): If the Governor is absent from $UE (I): A IIUT WS4 Pl o & WH
the place of sitting of the IR g SHET Fo
House, his message shall be 3 @
conveyed to the Speaker ISR Ay & v w|fie
through the Principal Secretary c )
of the Rajasthan Legislative Pl AT ST BT AT !
Assembly. eI IR BT T4 PITY —
Choose the correct answer -
(1) Only Statement (II) is correct (1) el B (D) FE &
(2) Only Statement (I) is correct (2) Bad ®UA () T8 8
(3) Neither Statement (I) nor Statement (II) is (3) 1 A1 B (1) - & U (1) T 2
CONEERt (4) F () W& HUH (1) SHF W1 &
(4) Both Statements (I) and (II) are correct (5) srgeRa Te
(5) Question not attempted
34. Which of the following pair (Name of Justice — 34 ITSIRI 9o ~ITGTeld @ <ATAEN & 371 9=
High Court) is NOT correctly matched regarding TR & T IR @ U W B B
Justice of Rajasthan High Court, held the office i 4 A H W B e
. : : (Ramareier &1 9 — Se Tey) gaferd g
of the Chief Justice of other High Court? 7, |
(1) Ajay Rastogi — Delhi High Court (1) 3rorg v — ool S=g <™
(2) Kanta Bhatnagar — Madras High Court - (2) BT YeITR — A5 9& Ay
(3) Sandeep Mehta — Gauhati High Court T (3) |y wEdar — AR ST SRy
(4) Govind Mathur — Allahabad High Court (4) TMfe= "R — FAEERE o R
(5) Question not attempted - (8) IrgaRd e
35. Which visually impaired athlete from Rajasthan ~ 35- focell # smiifora et ¥ Ov7 =7 2025 3
won the silver medal in the 5 km race at the ST & fu gieqrii amae 7 5 f5.. e
Khelo India Para Games 2025 held in Delhi? H Iod U T far?
(1) Mahendra Kumar (2) Manisha Saini (1) 585 HAR (2) T d+
(3) Pawan Kumawat (4) Praveen Sharma (3) va= gAEd (4) gdror vt
(5) Question not attempted (5) srgaRa wes
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36.

Which boxer from Rajasthan won the gold medal
in the 45-48 kg category in the ‘7™ Youth
Women’s National Boxing Championship
2025’7

(1) Anisha Kumari (2) Suman Kumari

(3) Sannu Kumari (4) Nisha Kumari

(5) Question not attempted

36.

:_j
-.:-r:a

Wﬂ%ﬁs‘ﬂﬁﬂ%ﬂﬁ#'ﬂmﬁwm
IS gamaren AOTERT 2025 H 45-48 kg

it ¥ ol yge g fHar?

(1) srferem HART (2) a7 AR
(3) | HAR! ORENIREIN]
(5) sraiRa U

37. For an outstanding performance in the “State 37 ORI 1 "I wWRIY fAdd AR gar
Level Viksit Bharat Yuva Sansad” of Rajasthan, wHe” ¥ O yeuie R, fban gawll a1 Iy
how many youth have been selected for N 5
representation in ‘Rashtriya Yuva Sansad’? 9. ] ® forg g
(1) Eight (2) Six (1) 3ms 2 &

(3) Three (4) Four @) o (4) =R

(5) Question not attempted (5) srgaRa we

38. Union Home Minister of the Government of 38 arifer, 2025 # Ulger # MG o HeIE @I
India, participated in the completion of a qUriEfy § YR WRHR B DL T8 HA T AT
Mahayagya organized at Paota in April, 2025. o R 5
What was that Mahayagya related to? il .

(1) 108 Kundiya Brahmayagya Mahayagya (1) 108 FSII FEAS eI

(2) 108 Kundiya Mahamrityunjaya Rudra (2) 108 BT FEFIGST ¥ HEE

s %agh;ya?a A (3) 108 FUE I TETH

undiya Agnyadhya ayagya
4 HIS E‘E‘i‘l{ﬂﬁ]’ﬂ IR

(4) 108 Kundiya Darshapurnamas Mahayagya () 108 3

(5) Question not attempted (5) IrgaRd ye=

39. Identify the FALSE statement regarding 39 yoRere foure—ufhar o 4 w=fg
Rajasthan Vidhan Sabha-Rules of Procedure - I HUT Bl Gga BIfoTT —

(1) Not more than four starred questions by the (1) Us & 9o R fad) tsp o5 TR 9 31fdrs
same Member shall be placed on the list of IRifa we HiRas IR &gyl @ A
questions for oral answer on any one day. ¥ 98 < ORI

(2) For obtaining .information with regard to a (2) IO T S e @ vY W AR
n'.latter o-f pubélc 1rnporta1;:le a Membelt' maz e B B N SEETeTE § U 99E
give flotu:e of not more than one unstarre i o ¥ aRe T Ll
question a week during the inter-sessional s
period. L < I

(3) Unless the Speaker otherwise directs not less @ E g % e GF::IT 7%
than fourteen clear days’ notice of a starred 7 E_ @ fore ¥ =feg f&
and unstarred question shall be given. P BT I T QSR _

(4) Unless the Speaker otherwise directs the first (4) S§ TP w sl RER o <, 9% W
hour of every sitting shall be available for the T BT T T FaT Ul |fed TRifHd
asking and answering of starred questions gl @ qBH 3R SR 1 @ o Suee
including short notice questions. B

(5) Question not attempted (5) IrgaRa wed
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40. Which of the following pair (Section — Subject ~ 40.
Matter) is NOT correctly matched regarding %rq‘r ERT — vy 9wg) § @ ﬁ:ﬂﬂ
Rajasthan Panchayati Raj Act 19947 gAfera &t
(1) 50 - Functions and Powers of Panchayat (1) 50 — vaTgd & P iR TRl
(2) 51 - SFum;t;'ons and Powers of Panchayat ) 51 — Yarq |y & Fg IR Tl
amiti w
(3) 53 — Standing Committees of Zila Parishad () 53 — forem aRue 1 <ol wfferl
(4) 52 — Functions and Powers of Zila Parishad (4) 52 — forem oRyg & P AR Al
(3) Question not attempted (5) ergaRa e
41. Which of the following schemes are being 41 IGRI WIR & W WIT RPFT ZRT
implemented by the Local Self Government frfoRad § & S greas frafag & o
Department of the Rajasthan Government? e &7
(i) Mukhyamantri Svanidhi Yojana () g W Qo
(i1) Shri Annapoorna Rasoi Yojana (i) S arTqurt xS e
(iii) SVAMITVA Scheme e i, rld
(iv) Mukhyamantri Shahri Rojgar Guarantee (iv) TR IR AR TRE AT
Yojana a2 ey gﬁf e
Choose the correct option - (1) Baet ), (ii) 3R (iii)
(1) Only (i), (ii) and (iii) P afs &
(2) Only (ii), (iii) and (iv) (i), (iid) SR (iv)
(3) Only (i), (i) and (iv) & adt @, @) M ()
(4) Only (i), (i), (iii) and (iv) (@) (), (id), (iii) 3R (iv)
(5) Question not attempted (5) 3rgaiiRe we
42. Governor’s Relief Fund in Rajasthan was 42 Joeae § XYwuuiel ¥R @1 & TS
constituted during the tenure of which of the frr=fefea § 9 59 4 IR B BRIBTE
following former Governor? & eRE fHar T or?
(1) Shri Joginder Singh (1) = Sfifer e
(2) Shri Vasant Rao Patil (2) =Y gga g U
(3) Shri O.P. Mehra (3) s annd). v
(4) Shri Raghukul Tilak @) s gga foes
() Question not attempted (5) gﬁﬁﬁg g
43. What can be the maximum number of Members ~ 43. [oTere R @7 Afkens @ ae@t @
in the Women and Children Welfare Committee S TR GEfT d§ 9l P sifteaH
of Rajasthan Legislative Assembly? =T fha-l 8 9ad) 87
(1) 15 (2 12 (1) 15 2 12
) 14 ) 13 (3) 14 @) 13
(5) Question not attempted (5) IrgaIRa T
44. In Rajasthan, the Minister with whom a 44. oo H, U 74, s |rer ) oy /340
Statel'DepuIEy'Ministfer isfaltltached asIhall with 7 7 g far o € EfoRe § Q¥
approval of which of the following allot to the Bra H’:ISI?:I Fafera
Slt)zlt)te!Deputy Minister business ap%ertaining to ; ¥ ﬁw ¥ PT P S
the department? ndi RIS /39 WA B mdfed wyan?
(1) Chief Minister E—‘E "!,.._ (1) e
(2) Governor (2) vr=guTe
(3) Chief Secretary (3) 7= \Ra
(4) Speaker of the Rajasthan Legislative = ;
Azsembly > . @) &, XTeIReII
(5) Question not attempted (5) argafRa we
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45.

47.

49,

50.

Education and Panchayati Raj Minister Madan

Dilawar launched the restoration of ‘Patli River’
in which district of Rajasthan in March, 20257
(1) Jaipur (2) Kota

(3) Ajmer (4) Alwar

(5) Question not attempted

In the “All India Civil Services Men Cricket
Tournament, 2024-257, Rajasthan Secretariat
defeated Delhi in the final, under whose
captaincy?

(1) Hitesh Sain (2) Akshay Kumar

(3) Shahbaz Khan (4) Rashtradeep Yadav
(5) Question not attempted

Which pair (Name of Division — Number of
Districts) is NOT correct regarding the divisions
of Rajasthan and the districts included in their
Jurisdiction?

(1). Bharatpur — 5 (2) Bikaner —4

(3) Jodhpur -8 (4) Udaipur -6

(3) Question not attempted

- Who among the following Chief Ministers of

Rajasthan was elected as a Member of the
Rajasthan Legislative Assembly, Rajyasabha
and Loksabha during the time period of 1957 to
19627

(1) Hiralal Shastri

(2) Haridev Joshi

(3) Jai Narayan Vyas

(4) Tika Ram Paliwal

(5) Question not attempted

What is the denomination of the commemorative
coin released in 2025 in memory of Harakh
Chand Nahata?

(1) %100 (2) %25

(3) T50 4 10

(5) Question not attempted

According to the Rajasthan Journalist Health
Scheme notified in March 2025, the limit of
medical expenses (IPD) for eligible journalists
and their family members is -
(1) ¥ 25 lakh per year

(2) X 15 lakh per year

(3) %10 lakh per year

(4) T 5 lakh per year

(5) Question not attempted

45.

46.

47.

48.

49.

50.

R g uErgday WS H@E Hed fRdmtaR A
g, 2025 § Yo & fha el § uree
QY B SR BT YARA fbar?

(1) SR (2) BT
(3) 3R (4) TR
(5) arg<IRe we

2024-25" # YoTIE Afaed o fhaer st

¥ faeell BT Brgaal # R

(1) f&dwr &9 (2) 3er HFAR
(3) rEeTS @M (4) IEy Trea
(5) 3rgaiRd U

JIORAE D G 3R S eEfeR H
wftafora el @ a5 § DIar I (F9RT B
Im — 7t @ G g T2 'Y

(1) WRagR — 5 @) fHR — 4
(3) SIEgR — 8 (4) SR — 6
(5) iR g |

o & e gt § @ s 1957
J 1962 BT AR & SR oI A=,
TSTRTAT AT TG D TS & wy § fAaiferd
gU?

(1) ERrema I

(2) sRea Sl

(3) S IR &A™

(4) i1 M greirdrel

(5) argaRa g

B T AEel @ AIE H 2025 F WM fHy ¢
RS fiad &1 g /a1 87

(1) 100% (2) 25%

(3) 50% 4 10%

(5) argaRa wed

AE 2025 # SRR ISAE TFHR WY
o fov fafdcr =@ @EEAOD) & A
3

(1) 25 org Tufa a9

(2) 15 orRg Tufa of

(3) 10 o= Tufy a9

(4) 5 =g Tufa ¥

(5) r<IRa s
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PART - B

51. First Difference Method of isolating cycles will ~ 51- Tsh} BT 3eTT BR= B W R fafy oy i
be applicable if the observations pertain to - I 3rgaired =1 9 Gefda a8f —
(1) Quarterly data (2) Yearly data (1) g a7 (2) aff®s <1
(3) Monthly data (4) Weekly data (3) TfaE e @) grafee Se
(3) Question not attempted (6) IERT T
52. A researcher set a = 0.05 for a right-tailed test, 52- U&% iUddl ERT IMW-UB W& & forg
what does this imply? a = 0.05 iR f&Har T 8, saer a7 o1ef 22
(1) There is a 5% chance of accepting Ho when (1) Hp &1 TTad 8F R PR & B 5%
it is false. AT © |
(2) The critical region occupies 5% of the area (2) ifid &5 9% B T B F 5% &5 Rl
under the curve in the right tail. 2 i
(3) The p-value must be less than 0.95 to reject (3) Ho 3 SRAPR T & AT p-ATT 0.95 W
A ¥ g1 =Ry |
(4) The probability of Type II error is 5%. @) R ydR B Ffe B i 5% 2|
(5) Question not attempted (5) IrgaRd we
53. A pot has some coins of 1 rupee, 50 paise, 53- U% a9 ¥ 1%, 50 U9, 25 U dor 2009 &
25 paise and 20 paise in the ratio 1 : 2 : 4 : 5. If %o f4a® 1:2:4:5% oFua 4 §| IR g4
the value of all these coins is ¥ 400, then the i @1 B TeF 4003 &, 20 YF qen
difference in the number of coins of 25 paise and 25 00 B ol B Hem # e R
20 paise is - &?
(1) 100 (2) 200 (7100 @ 200
®3) 25 4) 50 (3) 25 (4) 50
(5) Question not attempted (5) srgefRa s
54. [M(12.1)7 = (817 + [(0.25)% + (0.25)(19.95)] =2 94 /[(12.1)2 — (8.1)?] + [(0.25)2 + (0.25)(19.95)] =?
(M 4 @ s E (1) 4 @ 5
@) 6 4) 8 ) 6 4) 8
(5) Question not attempted (5) SrgaiRa g
55. Which of the following is true? 55. o ® | Biaar 9 27
(NipReepid— pla - pl < pie (DEpls —pie — P =Pl < Pt
(2. P2 <PF2=PF < PR < pl2 (2) pla < pfa = PE < PRa <PI2
{8 Pl PRA =P < PRR < PE () P2 < P =P <P <P
{8) pla.—pha - pt < ple < pla (4)’pla < pFe= pE < pla <. pla
(5) Question not attempted (5) srgaRd weA
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g T Y@ BT oI aX@ TR U

56. Study the given graph and find the difference 56
between the average demand and average BT TS G @9 W, HRISRI Bl e AT 3R
production of computers, taking all the four S SeUTaT P AR ST B —
companies together -
P demnd [ ] manufacturing = 7kl
" 3500 3060 30004 3000
"éi:zz ' 2500 ax # 25001 L T
2000 % 20001
S 1500 1 E.lsoo-
Z 1000 4 1000+ 1000
500 - 5004
T Tam  Relmee  Bila  Wonder 7
Cement
Companies
(1)-125 (2) 100 (1) 125 (2) 100
@) 25 @ 75 (3) 25 @ 75
(5) Question not attempted (5) araRa we
57. If the class interval mid points in a frequency  57- afe =fFA & TP WHg Y MY & AGRT AR
~ distribution of age of a group of persons are 25, - F g NI 72 ﬁ-g 25, 32, 39, 46, 53 3R 60
32, 39, 46, 53 and 60, then the size of the class 2 o1 ol SR BT AR & —
interval is - :
(1 8 (2 9
(1 8 (2 9 @) 7 @) 5
(3) 7 4 5
(5) IrgiRa we
(5) Question not attempted
58. With usual notations, the estimate of the variance 98- | Hhad @ WY, FHMUNNSG AEeT B
of X under proportional allocation is — feifd X B UNITHAT BT STAN © —
(1) v(Es) = E:HEZ};lW- S-2 B )= N;“zk= W, 5.2
w; S W; S
@ v&) = (1-7) B ot @ v = (1-7) T =t
il ek £ i
® v = (1-5) 2k, i @ vow = (1- D)z
n; :
e W;s
@ V&) = (1-2) 2k, = @ v(x) = (1-5) 2k, 12
(5) Question not attempted (5) FrgaRa we
59. A person invested ¥9000 at certain rate of 59. ue egfad = 9000 T ARV &l &1 AlRFd <%
simple interest for 7 years. If the ratio between w 7 98t & ford e fad | afe @ UTd &t
total interest received and the principal amount qAT YR B WA 7:10 BT AU F, A FA
is 7 : 10, then total interest received is - T SIS T —
(3) T 6930 (@) T 5400 () 6930% (4) 5400%
(5) Question not attempted (5) SrFeiRe w2
60. If Laspeyres’ Price Index is 361 and Paasche’s 60 afe @rda™l &1 Jou Godid 361 8 3R T
Index is 121, then Fisher’s Ideal Index is - - gﬂ‘?a”as 1218, 1 R 1 SR qEpie
(1) 209 () 216 (1) 209 2 216
(3) 234 (4) 180 (3) 234 (4) 180
(5) Question not attempted (5) s we
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61. In a Time Series Analysis, you fit a trend line 61 W79 si@er fRAvawor 4 amg w@ LIS
Y = 100 + 5X, where X is coded such that Y=100+5X &I fibe F=d &, W& X I 59 ISR
2019 = 0, then what does X = -2 correspond to %@;{m WT ;i‘* g_{zmga;%a ar X= -2
and what is the predicted value for that year? A AT BT o ferg HlEE
(3) 2017, 110 (4) 2021, 110 (3) 2017, 110 (4) 2021: 110
() Question not attempted (8) IR e

62. Given that x, y and z = (x + 2y) are variables, 62- f2g U x, y 3R z=(x +2y) W & fw
such that Var(x) = 4, Var(y) = 3 and Var(z) = 4. Var(x) = 4, Var(y) = 3 3iR Var(z) = 4 81, a
The correlation coefficient between x and y is - x3R y & 9= gegdy Ul & —

(1 v3/2 (2) -2 M V3,2 @) -2
@) —v3/2 4) 3 (3) —v3/2 4) 3
(5) Question not attempted (5) srgaRa o=

63. Let ‘x’ be a single observation from a population ~ 63- W NRT 5 x v wEERET I U Udhdl
having an exponential distribution with mean JaAIH & FOIdT 71eg 1A D 91T T =g
1/A. Consider the problem of testing Ho : A = 2 fOaRT Bl Ho:A=2a Hi: A =49 o
Vs Hi : A = 4 for test with rejection region x > 3, IRAIPHIT & x > 3 1Y T FX 3 T
let & = P(Type-I error) and B = P(Type-II error) R AR &Y | 99 AT o= P (IR~ —ar%) alw
hensa = B =PRIl Ffe) & —

) a=e"andp=1-e (M a=e?sRB=1—¢"
(2) a=1-— 8_12 and B == e_6 Sa e —12 =6
(3) o= e mdp = e-12 2 a=1-e22RB=¢e
2 5 < @) a=e® 3IRB=e12
@ a=e®andB=1-¢"1 (4 g =e®aRE=1—e12
(8) Question not attempted (5) srgaRa w3
o LetX; = EL'Y]' = Wy, = P03 5ng e X; =E:Yj =3y, = 2l g
Poj Joj ; ZPoj doj 3 Poj Yoj ZPoj doj

Wj = Poj Qoj, be the weights of Xj, Yj, j = 1, Wj = Do oy, Xi Yjpj=1,2,....0 P 9R § aiR
2,.....n and ryy is the weighted correlation TIRE TEdde U
coefficient between X and Y, then which of the Dxv» X;T_E Y; @ 4 ? T &, R
following is true? Gl I
R e M g _ ;) _reroxoy

PEI? Voi ’.E P oi Voi
(2) B2 _ ryyoxo (2) PE? _ rxvoxoy

F?ia- % Vo,i( 3 Pl‘;ia = Voi
(3) Eai Ox Oy (3) P_(I;la_-?'x_dy

Pg? = Voi pl;ia = Voi
4 P2 o @ P _ rxyoxoy

;§? = XYV:: Oy p_gia = Vi
(5) Question not attempted (5) SrgaRd ye=

65. A’s income is 40% more than B’s income and  65- A% G B &) AT T 40% ARF L qAT C A
C’s income is 20% more than A’s income. By M A B M T 20% 3DP 2 d caY 3T B
what percentage is C’s income more than B’s R ';{ i 35 ;
income? SRR &

(1) 40% (2) 88% (1) 40% (2) 88%
(3) 60% 4) 68% (3) 60% (4) 68%
(5) Question not attempted (8) SrgIRT we
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66.

67.

68.

69.

70.

If 02, 02 and 02_y, are variance of X, y and x —y
respectively then value of ryyis - '
() B
(2) o%+oj-o%-y
20x0y
(3) of-cf

0',2{+cr§,

(4)

o%+af -

ox0y
(5) Question not attempted

Given the trend equation Y = 118.5 + 2.2X +
1.4X? with origin 1990, the trend equation with
origin 1991 will be -
(1) Y=1183- 0.6X + 1.4X>
(2) Y=118.5+ 22X + 1.4X?
(3) Y=122.1+ 5X +14X*
(4 Y=117.7- 0.6X + 1.4X>
(5) Question not attempted
The Consumer Price Index for April, 1985 was
125. The Food Index was 120 and Index for other
items was 135. The percentage of total welght
given to food items will be - IF-'
(1) 71.25% (2) 65.52% =]
(3) 66.67% (4) 60.00%
(5) Question not attempted
If L(p) and P(q) represent respectively
Laspeyres’ Index Number for prices and
Paasche’s Index Number for quantities, then -
(1) L) _ P®

P(a)  L(Q)
(2) L® _ PP

L@  P(q)
(3) L(p) L(q) = (P(p) P(q))*/*
(4) L(p)+L(q)=P(p) +P(q)
(5) Question not attempted
The correlation coefficient between the marks
obtained in Mathematics and Statistics in first
semester examination for a given set of 60
students is 0.65. After re-evaluation the marks in
Mathematics of all the 60 students is increased
by 3 marks. The coefficient of correlation

between the original marks in Statistics and the
revised marks in Mathematics will be -

(1) 0.70 (2) 0.65

(3) 0.60 (4) Almost 1

(5) Question not attempted

66.

67.

68.

69.

70.

e cﬁ,of,aﬁ?c:i_ym: x,yaﬁ'\’x—y?ﬁ
TERT B, AT 1y BT AF B —
(1) Zx%

Ox-y
(2) o%+of-o%_y

20x0y

(3) ok-oj

o3 +05
(4). a3 495

O'XO'Y
(5) SrgaRa U
1990 P By AMBY UH BN B IUAM
TSRO Y = 118.5 + 2.2X + 1.4X% &1, d 1991
BT Bg AT §Y SUART HHIBRYT BT —
(1) Y=118.3- 0.6X + 1.4X>
(2) Y=1185+ 22X + 1.4X>
(3) Y=122.1+ 5X +14X?
(4 Y=117.7 - 0.6X + 1.4X>
(5) SrfiRa U
aier 1985 H SUHIGA Hod HAdbid 125 oAT|
Qe gadid 120 TAT T IRl DI YaADID
135 o7 | Qe I¥g3il R &I S el IR &I
yferera 8 —

(1) 71.25% (2) 65.52%
(3) 66.67% (4) 60.00%
(5) SrgeiRe a2

afE L(p) 3R P(q) HHer @zﬁmamﬁw

Hadie HE iR Al @ fau uRE @
Hadie | S 8, a —
(1) L®) _ P®)
P(@)  L(Q)
(2) Lo) _ P®)
L@ ~ P(Q

(3) L(p) L(a) = (P(p) P(q)*/?
(4) L(p)+L(q) =P +P(q)

(5) 3rgaiRa U

60 faenfil & WE gRT UM AHER &I IRIeT
¥ 7iforg vd wikegs! | 91w 3il & e e
oI 0.65 ¥ | TG & d1g @ 60 BTl
@ TIford H 3 3@ 98 T, 1 Wik ¥ arafde

H1 U BRI —

(1) 0.70 (2) 0.65

(3) 0.60 (4) o 1
(5) IR U
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71. In the context of economic analysis, whichof the ~ 71 anféfes faweiyor & e # fa=foRed & @
following is not a component of measurement DITET I gaDid V(L) H HI9H aﬁ: & UChH
error in the value index Vi(l)? T8 27
(1) Sampling error (1) = 3
(2) Classification error (2) fiawor 3
(3) Homogeneity error (3) FHTT 3
(4) Formula error @ T3 3
(5) Question not attempted (5) sraRa T

72. Year-to-year indices in the Chain-Base Method 72 sj@ell oo fafey # ad—ar—ad g@@ia! & Fa
are called - ST ' —

(1) Fixed base indices (1) fAR=a smR qEaie

(2) Link relatives (2) sjEen eI

(3) Chain indices (3) s GEDID

(4) Cost of living index (4) Na=T—au= AT GABID
(5) Question not attempted (5) argaRa ued

73. Suppose x is a random variable with finite 73- H199 <oty x yRMT fa=Ror arem &
variance. For 0 < 8 < 1 and n > 3, let W el 0<B8<13R n>3a fogw a9 o
X1 =X, X2= 0x1, X3 = 0X2,.......; Xn = OXa1, then X1 = X, X2 = 0x1, X3 = 0X2,......., Xn = OXp.1, TH
Corr(x1, Xn) 18 - "He Corr(x1, Xn) g -
1M1 (2 -1 r: 1) 1 @ —1
(3) o™ (4) o2 (3) o3 (4) g2
(5) Question not attempted (5) IrgaiRa we

74. Let X be the mean of a random sample from 74 HF AT & X, N(y, 1) SEET 9 AgBD
N(u, 1) population. If the null hypothesis T BT AT 7 | e I 9IRS Hot =y,
Ho : 1 = i is rejected when X > |1, then the size IRAIHa AT AT 8, O1F X > o B, ar g
of the test will be - BT BN BT —

(1) 0.05 (2) 0.95 (1) 0.05 (2) 0.95
(3) 0.50 @ 0.75 (3) 0.50 @) 0.75
(5) Question not attempted (8) srgaRa we

75. Consider a population of 3 units with values 1,2,  75- 1, 2, 3 H9 drell 3 SHEA & AT R AR
3. The variance of the sample mean in case of HY | gfoRuAr fRd ERe THATHRYT
Simple Random Sampling Without Replacement (SRSWOR) faftr & 3R 2 & ufigdl & Arg
(SRSWOR) method for sample size 2 is - BT TR § —

(M 1 @ 2 1 Bins

3 1 @ 1 k- s
6

(5) ‘(;Question not attempted (5) SFRIINe W

76. For the given six values 15, 24, 18, 33,42, 48, 76. f&3 & & Al 15, 24, 18, 33,42, 48 & forg
the three yearly moving averages are - i aifffe =e off|d & —
(1) 19,25, 33,39 (1) 19, 25, 33, 39
(2) 19, 25, 31,41 (2) 19,25, 31,41
(3 19, 25,31,39 (3) 19,25, 31,39
(4) 19, 25, 33,42 (4) 19,25, 33,42
(5) Question not attempted (5) srgaRa weA
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77. Y = mX + 4 and X = 4Y + 5 are the regression 77+ I Y =mX + 4 T X = 4Y + 5 A Y & X
linesof Yon X and Xon Y, thenmhesbetween TN QAT X BT Y )R TdI9THT NE0 81 af m &l
the values - 79 7 & g B8R —

(1) 0Oand 1 (2) 0and 0.25 (1) oTer 1 (2) 0T210.25
(3) 0and 0.5 (4) 1and 0.5 (3) 0T 0.5 (4) 192705
(5) Question not attempted (5) Srg<IRa we

78. Which of the following is responsible for 78 famifoiRad § & @ uftemw FfeAl & forg
sampling errors? IR 87
(1) Faulty selection of the sample (1) ufoest &1 Fegel =a=
(2) Both faulty selection of the sample and (@) QT gfaet 31 IRt @ ok e

substitution @)
(3) Formula error T 3
(4) Substitution (4) yfcrema
(5) Question not attempted (5) Sr<IRa wed

79. How many distinct samples of size ‘n’ can be 79 n IHEAT BT TG (U1, U} W
drawn with replacement from the population YfReITgT & 1Y BN n'd fha— erT—arerT
{u1, U,.. 01} of ‘0’ units? T FepTel ST Wb &7
e Rk @ ron ) 1 @ w-n
@) 1 (4) (2n— 3) 1 (4) /2n—1

(F55) o
(5) Question not attempted (5) arRa wee
 80. [n a hypothesis testing problem, which one of the ~ 80- Tes UReaT TRIETT @1 waw ¥, Frfead o
following is true? J BT T 82
(1) P(x € W[H,) =B (1) P(x € W|H,) = B
@ P(xeW[H,)=1-8 @ P(xeW|H))=1-8
@) P(xeW[Hy) =1-« @) P(xeW|Hy) =1-«a
4 P(x e W|Hy) + P(xe W|H;) =1 4 P(x € W|H,) +P(xeW|H,) =1
(5) Question not attempted (5) srgaRa ueA
1 4
81. The square root of & ) (5 3)2 is - 81. -(3)—(-)— HT A B —

e e O] 1
(1 5— (2) 717—2 (1) 55 (2) 717—2

Y 1
L s @1z @) 1= (4 1
(5) Question not attempted (5) SrgaiRa ueH

82. In a week, the average of maximum temperatures ~ 82- Y& {8 ¥, AR, HIAR, FUAR 3R THIR
of Monday, Tuesday, Wednesday and Thursday 3 IIfpad aUHE BT T 38°C o iR
was 38°C and that of Tuesday, Wednesday, FIAAR, AR, AR AR IEHAR & Afhdd
Thursday and Friday was 40°C. If the maximum dOAM BT ST 40°C o| Ife |FER @l
temperature on Monday was 30°C, then iferea™ AT 30°C o, 1 YehaR DI Aferdbad
maximum temperature on Friday was - SIEIEE .

(1) 30°C (2) 39°C (1) 30°C (2) 39°C
(3) 38°C (4 40°C (3) 38°C (4) 40°C
(5) Question not attempted (8) argaRa we
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83. An amount with annual compound interest rate
becomes ¥ 5000 after two years and T 8450 after
four years. Interest rate per annum is -

(1) 20% (2) 30% T
(3) 25% (4) 35% 1
(5) Question not attempted

84. For a group of 7 year old boys -

Body Height : X; = 115 cm, s; = 6.5 cm
Body Weight : X, = 23 kg, s, = 2.7 kg
where X is the mean of the group and ‘s’ is the

group’s standard deviation. Which one of the
following is correct?

(1) Boys are five times as variable in body
weight than in body height.

2) Boys are (g) times as variable in body
weight than in body height.

(3) Boys are twice as variable in body weight
than body height.

@) Boys are ( ) times as variable in body height

than in body weight.
(5) Question not attempted

85. The line of regression of y on x is
nx + s;y + tit = 0 and that of X on y is
X + s2y + t2 = 0, then the correct option is -

(1) ns2<ms; () nn<sis:
(3) 281 < 2182 (4) sis2< 1
(5) Question not attempted

86. Which of the following statement is true?

(1) Link relative method utilises data more
completely than moving average method.

(2) Link relative method utilises data less
completely than moving average method.

(3) Link relative method utilises data equally as
that of moving average method.

(4) None of the above

(5) Question not attempted

87. 96.54-89.63 _ 965.4-8963 .
96.54+89.63  9.654+8.963
(1 10 (2) 10
() 107 @) 107!

(5) Question not attempted

83. v g=RIfd A1 =shgfe &ae @ X & 299
915 50003 TAT 4 9§ 91€ 84503 B W B |
e & X B —

(1) 20% (2) 30%
() 25% (4) 35%
(5) SrIRd U

84. 7 q¥ly TISHI B WE D folQ —
ARING HaT8 : X; = 115 91, sl_.ssﬁfﬁ
INIR® ¥R : X, =23 %M, s, = 2.7 5o
el X 99 b1 9RY © 3R s WE P AFD
fagem 8| fAfolRaa § 9 o 98 27
(1) TSPl & IR BT qoiF INR DI Has B
gor ¥ dfa AT 3ifde aRadeiier 81T 2|
(2) FSBf @ IR BT I99 IWR D HAE DY
o # (2) T 3 aRedeier g 2 |
() TSP D INR T guiF INR B SdAlg B
o | =7 IAT gRacd el 2 & |
4) TSP B IRR B Hals INR & o B
gor T # (2) T e aRedweier B 2
(5) SR we
85. Jfq x TR y B TR @ rix + s1y + t; = 0 37
yIR x @ URTHT Y& nx + sy + =08, @
a8 e & —
(M ns2< s
(3) 1281 < 2n1s2
(5) arg=iRa u=
86. fog # W P11 HUF TH B?
(1) sj@en qeargua O & go—srg O |
3ifSres ariwSt HT SUART BT B |
2 sjgen Feargua A 4 go—amg (A |
HH ATHS! BT SYANT Bl 2 |
(3) gelt Heargurd fafer va =rei—amea fafer g1
g Y gQ Nidps & 99 HI 9 STAN
Cacild
4) SR § F P 7
(5) argaiRa U
87. 96.54—89.63;965.4-—896.3

=7
96.54+89.63 : 9.654+8.963 5§
(1) 10 (2) 10?

(3) 102 @ 10!

(5) IreiRa we=

(@) nn<sis
(4) s1sa< e
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88. What will be the Compound Interest on ¥ 13000  88. IfT Fspgf &mar &1 ToFT 8—HIRABI B SATA
at 15% rate per annum in 2 years, if the interest 2, dr 15% d1ffe X 9X 2 981 & o1y 130002
is compounded 8-monthly? P m@ TS T BIT?

(1) %4033 (2) T4330 (1) 4033 % (2 43302
(3) T 4303 (4) T 4404 s (3) 4303% (4) 4404
(5) Question not attempted M.: (5) rgaRa we

89. Consider the following pairs - 89. fepferRaa gl R faar Pifoig —

(I)  Power function ~— Uniformly most (1) =fT wer — WF WY W |Ed
powerful test ?ﬁﬁﬁ?ﬂ?ﬁ aeTer

(I) Size of thetest — Larger of the two (11) TRIETOT BT MHR  — T FHR B 4
types of errors | 79 ﬁ%

(II) Neyman-Pearson — Maximum power for “”) T fr ﬁmﬁi DA, . (o0} :‘;’ %Eﬁ_q

Lemma afixed level of m%

g ticanes. () (V)yrgReFa wem — qlE o 5 gRed

(IV) Randomised test — Tests not based on the ATAFT W ARG
sample observation T &

How many pair/s is/are NOT correctly matched? foram SireT /SIS W81 @ 9§ gHferd T8l 8 /8°

(1) Only three pairs (1) daer 4 e

(2) Only one pair (2) Badl P ST

(3) All four pairs @) w4 TR e

(4) Only two pairs (4) Baa 3T IS

(5) Question not attempted (5) SrgaiRe o

90. Which of the following method is not used for ~ 90- f=feRaa # & d A T7g g@em @1
measuring cyclical variation of time series? ﬂ%?l e PI A % for ST T B
(1) Residual method (1) safdre fafey
(2) Reference cycle analysis method (2) Hed = Aoy Ay
(3) Regular method (3) fafag Ay
(4) Direct percentage variation method () gger e Rges fafy
(5) Question not attempted (5) S g

91. The total daily income of A, B and Cis¥3330. 91- A, B 3R C&# g af & amg 3330 21 @
They spend 80%, 85% and 75% of their income U M HT HHI: 80%, 85% AR 75% W
respectively. Their savings are in the ratio of TG & | S 99d HHI 7:6:9 D T H
7:6: 9 respectively. The daily income of B is - sIBH Fpame -

(1) ¥1080 (2) 71050 (1) 1080% (2) 10502
() 1150 ) %1200 @) 11502 @ 12003
(5) Question not attempted (5) argRa W

92. Let F(.) be the distribution function of random 92 A iIfT F() T& IgRBS TR X &1 fAa=w
variable X satisfying BT 8, Gl
Fx(a+x) =1-Fx(a—x) a€R,x€ER, Fx(a+x)=1-Fx(a—x) a€ERXxER
then skewness coefficient is - DI G FHIAT 8, AT fATHAT TOTH B —

M1 @0 (11 2 0
@) -1 4 3 @ =1 @ 3
(5) Question not attempted (5) srqaRa wed
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93. If the mean deviation of x from its mean is 5,

93. ufe x T Uew W Ay AT 58, Ay =2x+3

then the mean deviation of y = 2x+ 3 from its T T g7 e & -
Sl (1 17 2 10
(1) 17 (2) 10
@) 5 4 13
3) 5 4 13 .
(5) Question not attempted () SrgaiRa o
94. Let X1, X2urerennnene , Xo be a random sample from 94 #9 SHfTC X1 X2jesurencnscs , X9, N(B, 1) | ?Tlfgf%@‘cﬁ
N(B, 1), where —o0 < O < co. Consider the gt 2, uiel o< e HPE’\; TR & fery
following two tests for testing Ho, Ho : 8 = 2.5 T <1 ol P Ho:B=25
\ Hi:0 =4 TR |: x3 >4 89 W Ho
against H; : 8 =4. Test|: Reject Hoif x1 >4 IR Y
Test Il : Reject Hoif X >3 TAEFT Il :X> 3 B9 W Ho &I
Suppose ax and Bk are the probabilities of IEIBR FX
type—-I and type-Il errors respectively, for A AR & aiR B : TRk k=1,2)
@ forg egu—1 iR ‘c’lgcr—ug%q‘r DI HHGAY
test-k (k =1, 2), then - Fiae -
M ar=azand B1= P2 M o=z 3R B1= P2
(2) o =z and B1>Bz (2) a1=a23ﬁi’[31>82
(3) o1 > o2 and Bl=BZ (3) C(1>0123ﬂ_\' BI=BZ
(4) a1=0azand B1< B2 @) o1 =0 3R B1< B2
(5) Question not attempted (5) 3rgaRa weA
95. The mean of n items is X. If the first item is 95 nUa} &1 7rg X 7| AR gl ug # 1 F qfF
increased by 1, the second item by 2 and so on, I WY, GO g H 2 31 gfE @ WY 3R s
then the new mean is - UhR AT Al gieg BT Sy, a1 74T ARy g —
(1) 1 X F ot
1+2+-+n o 142++n
@) 5422 (2) g 4041
2
@) x+(n+1) @) x+Mm+1)
(4) . x+2 (@) _ x+2
¥ E-n A
(5) Question not attempted (5) PEC
96. The height of 10 males of a given locality are  96. 7% fay gy aardl & # 10 g8l @1 S8 70,
found to be 70, 67, 62, 68, 61, 68, 70, 64, 64 and 67, 62, 68, 61, 68, 70, 64, 64 Td 66 37 UTS TS |
66 inches. To test whether it is reasonable to T8 WE B D forg & Far I8 W Sfa
believe that the average height is greater than 2 & siag SS9 6459 ¥ ARG 2 -
64 inches, the calculated value of t-test will be - BT T fhar EEIRIE] BRI —
Sabk
(1 4 (2 2 = (1) 4 2 2
(3) 3.5 @ 6 . (3) 35 @) 6
(5) Question not attempted (5) srgaRa e
97. 43 : 97. [ 3v2 43 V6 &
T et [(ﬂr) Wera) (v’i+d§)] o [wwa) Wervn) w‘w‘)] 1 &
M 2 @ 0 M 2 2 o
3) V3 4 6 @) 3 @) 6
(5) Question not attempted (5) srgaRa e
96 - & Page 19 of 32

: b




4T =T BT 10%, 270 3 40% ¥ 180 IR

98. 10% of a number is 180 more than 40% of 270. 98.
The number is - 2| 9% A& § —
(1) 720 (2) 1440 (1) 720 (2) 1440
(3) 2800 (4) 2880 (3) 2800 (4) 2880
(5) Question not attempted (5) srgaRa uew

99. If %, and X, are the means of two distributions ~ 99 Ife %1 3R %, 3 de1 & Ay € ol %, < %,
such that X; <X, and X is the mean of the R X WYaT g BT TRg R, 99 e § 9
combined distribution, then which of the Pl T &
following is true?
(1) %, <X<%, (@ % <%, % <x<%, @ % <%
@) x=2%, @ x> %, @) x=2%, @ z>%,
(3) Question not attempted (5) srgaRa e

100. The lines of regression of y on x and x on y are 100y g x 7% RFTaT Y7 2k x @) y R U=
respectively y = x and 4x — 2y — 6 = 0 and the GT HHI: y = x IR 4x -2y - 6=030R x PI Hl
second moment about origin for x is 16, then fdg & ame g MO 16 8, AT y B UEROT
variance of y is - BT HE & —
(1) 7 () 4 (1)1 2 4
() 14 @) 16 (3 14 4 16
(5) Question not attempted (5) srgaRa wes

101 In a Mesokurtic Distribution the value of fourth ~ 101. yes ez 9§ arey ges ({Siaicn feediegem)
central moment is 768. The value of standard | I3 ST IR BT I 768%\'| 39 dcq
deviation of this distribution is - P Y9 foge s &1 99 2 —
(1) 256 (2 16 (1) 256 2 16
@4 4 768 3) 4 4) 768
(5) Question not attempted (5) sraRa we

102. 1f the annual trend equation with 2008 as origin ~ 102- 7f2 2008 I (origin) drell a1ffe  Susfy

is §=158.2+4.86X, the monthly trend FHIGRYT § = 158.2+4.86X B, ar WP

equation is - B TR 1 1 B 17 g g
(1) 131.8 +0.034X % (1) 131.8 + 0.034X
(2) 13.18 +0.034X (2) 13.18 + 0.034X
(3) 13.18 +0.34X (3) 13.18 + 0.34X
(4) 13.18 +0.043X (4) 13.18 + 0.043X
(8) Question not attempted (5) e uwa

103. I stratified sampling N1 = 400, N2 = 200 and  103. 3qRe uferara= # N; =400, N> =200 T4 S = 2S5,
S1 = 2S,. How will you allocate a sample of f&ar gam 21 120 39 & wfest @) a9 5y
120 units so that variance of the estimator is yeR faRd &= & s &1 gavo
minimum? HH—A—FT BI?
(1) 20, 100 () 96,24 () 20. 100 ) 96,24
(3) 100, 20 (4) 24,96 (3) 100,20 @) 24,96
(5) Question not attempted (5) srgaRa we
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|
P ! 104.

105.

106.
107.

108.

The secular trend of a Time Series is measured
by the following method -

(1) Periodogram analysis

(2) Variate difference method

(3) Moving averages method

(4) Link relative method

(5) Question not attempted

Which one of the following index numbers is

used for calculating the Dearness Allowance

(DA) of Central Government Employee?

(1) Wholesale Price Index

(2) Consumer Price Index (Industrial Workcrs)

(3) Index of Industrial Production

(4) Consumer Price Index (Rural, Urban,
Combined)

(5) Question not attempted

Probability of selecting a specified unit of the

population at any given draw using SRSWOR

is -

(1 L (2) n-1
N N-

@3) @ =
Ncn N

(5) Question not attempted

Given two regression lines x + 2y — 5 = 0,

2x + 3y — 8 = 0 and Var(x) = 12, then the value
of Var(y) is -
(1) 4 (2 3
4
(3 16 (4) ::i'

(5) Question not attempted

A sampler proposes to take a stratified random
sample. He expects that his field costs will be in
the form ZXCini.
relevant quantities for the two strata are as

His advanced estimates of

"ﬁtF

L

104.

105.

106.

107.

108.

Y wra oo § Aeereid SuHAfd S B
P fafr g —

(1) fiRTSrm faweryor

(2) =x 3=~ fafer

(3) =t wey fafdy

(4) sigen qeargurd fafe

(5) s we -

frefafad # 9 ST qEHE I WOR D
zﬁéﬂﬁiﬁﬂ?ﬂéﬂﬁ(m)aﬁmzﬁﬁm
IugrT fhar wmar 87

(1) o eI gadi®

(2) SudiaT qou Gadie @efis sifiw)
(3) 3fenfs IR FaDiD

(4) SuMeaT Hed qabie (@, el |ga)
(5) arg<iRa g

SRSWOR &1 SUIIT &a fhedl f1 fau v gi
ﬁmwa%wﬁﬁesfm‘zﬁramaﬂﬁ
&1 uifdear & —

) (2) n-1
N N-1
(3) -1 (BE
NC, N
(5) arg<IRT U3

g T TUTHT W@ x + 2y - 5 =0,
2% + 3y — 8 = 0 TATx BT TR 12 81, Al y Bl
TR ® —

(1) 4 @ 3
(3) 16 (4);
(5) argeIRa e :
Qe AT Y WRIG ATgIeod THAT ol B

TG Rl § | 98 SRS HRaT © b 9wl e
AT ECin; & WU @1 BRf| & Wi @ forg
Ui AR H S5 A1 SIgH 39 UER
#_

follows —
d W | S Ci
5”31“’"‘ ;"; 5 j‘ 1 |04 |10 |4
> e ;3 = 2 06 |20 |9
then the total fixed cost is - R g1 AfRTa arTa g —
(1) 1920 (2) 1936 (1) 1920 (2) 1936
(3) 1921 (4) 1931 (3) 1921 (4) 1931
(5) Question not attempted (5) argeiRd e
96 - © Page 21 of 32
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109. The variance of the sample proportion (P)in case ~ 109- SRSWOR (f&=11 gfcreenu= & HROT AgBD

- 110.

1.

112.

of SRSWOR method is -
(1).- N .re

Nﬁl PN
(2). N, PO
N-1

(3 N-n PQ

N-1 n
(4) PQ

N
(5) Question not attempted -
Let X1, x2, x3 be independent and identically
distributed random variables from the Bernoulli
Distribution (8), where 8 € (0, 1) is an unknown

parameter. For testing the null hypothesis
Ho: 0= % against Hy: 6 =% test Ty is defined as

Ti : Rejecting Hp iff max (x1, x2, x3) = 1, then
Type-I error equals -

)2 ()
8
@) 3 (4)

@I =

4
(5) Question not attempted

Which of the following is the objective of
Evaluation = Department of  Rajasthan
Government?

(1) To prepare a report of public opinion on the
working  of  different  government
departments.

(2) To prepare the database for the government.

(3) To suggest the government on policy issues.

(4) To conduct the evaluation studies on various
subjects, schemes, projects and programmes.

(5) Question not attempted

Consider the following statements -

Statement (A): The changes in demand for a

commodity occurs when there

is a change in its price.

Change in quantity demanded

occurs when there is a change

in the factors other than price.

Which of the above is/are true?

(1) Only Statement (A) is true

(2) Neither Statement (A) nor Statement (B) is
true

(3) Both Statements (A) and (B) are true

(4) Only Statement (B) is true

(5) Question not attempted

Statement (B):

110.

TR fafr § ufiest eura (P) &1 TR
Hidlie —

(i PO
N-1 N
@ N  FQ
N-1 n
(3) N-n, PQ
N-1 n
(4) PQ

(%) srgRa W

A STy & x4, x2, X3 @GF TG w9wUT faaRa
Trgfese =R ST T 8, Sl & Je=rel (a0
(0) & forar wam 8, & 0 € (0, 1) Ud Ir=a
wEe 81 YA UREEA Ho : 0 = - FAM
H1:9=%zﬁ'\_¥ﬁﬂ$mﬁmT1wW
gRIAT B 6 T1: Ho SRATBPR Y a9 3R Bael
TE T4 max (x1, Xz, x3) = 1, A U2 UBR BT Ffe
BT A9 8T —

(1 1 (2 1
8 4

(3) 3 @) 7
4 8

(5) 3R U

1. JGRIH WRBR & JeAidA AT &1 7 o 9

PITIT I 87

(1) fafr= Txer furTT & ST &1 ST &
Ad TR URIdes daR HRAT|

(2) PR & oy Serdw IR H=AT|

(3) WRHR PI NTT AR H g <7 |

@) A= fRwal, JioERl, TRaeHERT &k
PRIHHE TR eI eI AT HRAT |

(5) srgaRa g '

112, 57 ol b1 seaa B —

S (A): R A% @) AT A @9 uRad=

: 2 99 S9! Ha ¥ gRad= gar 2

HUE (B): A0 W arell AT H 99 9Radw
EIAT & 19 SIFd B IeldT 3= Tehl

: # gRad= gar 21

IR § § PAT/H Gl 8 /8?

(1) Bact B (A) T ®

(2) 57 a1 B (A) 3R T & FIF (B) I &

(3) T (A) 3R HU= (B) T 9 &

(4) Baet H(B) T &

(5) srg<iRa weA

96 -
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113.

114.

115.

The Development Monitoring and Evaluation

Office (DMEO) of NITI Aayog was established

by merging which of the following Offices or

Departments?

(1) Planning Department
Department

and Evaluation

(2) Programme Evaluation Office and the
Independent Evaluation Office

(3) Plan Evaluation Office
Formulation Office

(4) Plan Evaluation Department and Policy
Evaluation Department

(5) Question not attempted

and Policy

Which of the following statement/s is/are true for

Elasticity of Demand?

Statement (A): If the two demand curves are
parallel to each other having
the same slope, the price
elasticity at a given price
would be different.

Statement (B): The cross price elasticity of
demand between the two

complementary goods will
remain positive. :

Choose the correct answer from the code given

below -

Code -

(1) Both Statements (A) and (B) are true

(2) Only Statement (A) is true

(3) Only Statement (B) is true

(4) Neither Statement (A) nor Statement (B) is

true :

(5) Question not attempted

By which of the following year, Rajasthan aims

to achieve a $350 Billion economy?
(1) 2028 (2) 2029
(3) 2031 (4) 2030

(5) Question not attempted

113.

114,

115.

Y omar & fAE™ ogdE iR Jeaie

$afera (DMEO) &1 ®Iu=1 = # 4 fad

Pt a1 faarn & 9o 9 gs o

(1) o T 3R qeie feumT

(2 EdHA  qABT HEGE AR WA

o

() I qEied b SR A i
FIATd ‘

@) AT gemiea famT iR i qeie
femmT

(8) IR g% ‘

{7 B g @ forg e § | P /9 B

qaa 2/87

P (A): IR QA HT TH TE T D

E}Hé FHAR & 3R ¥99 @1 oy ¢
B A & T B w AT B S
=1 By |
U (B): T TS awgall @ §rd ART B RS
P @ geES @ |
4= iy @e & |8 SR gAY —
HT -

(1) BT (A) 3R FoF (B) TF1 9 &

(2) Badt HUF (A) T B

(3) Baat HUF (B) §A ©

() = a1 B (A) 3R 7T & 9 (B) 9 &

(5) argaiRa ue

o & 9 fra o a% o @ Rferdwen
BI 350 fAferas Ser o1 g1 &1 T 57

(1) 2028 (2) 2029

(3) 2031 (@) 2030

(5) argeRa e

9% - ©
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116.

117.

118.

Which of the following statements are corrcct

regarding ‘RAJSICO’?

(A) The RAIJSICO facilitates artisans for
marketing of their products.

(B) RAJSICO provides financial assistance to
small scale industries at low rate of interest.

(C) It is striving to introduce changes in design
and introduce new products with new
technology, in response to the market
demand.

(D) The corporation is also providing export
infrastructure services to the Rajasthan
exportersllmporters through dry ports.

Select the answer using the code given below -

(1) (A), (B) and (C) only

(2) (A), (B), (C) and (D)

(3) (A), (C) and (D) only

(4) (B) and (C) only

(5) Question not attempted

The Development Monitoring and Evaluation

Office (DMEO) of NITI Aayog was established

in -

(1) September 2015

(2) April 2019

(3) September 2014

(4) April 2021

() Question not attempted

Consider the following statements regarding

Reserve Bank of India -

Statement (A): The RBI is the sole authority for

the issue of currency in India

including one rupee notes and
coins. :

All the currency issued by the

RBI is the monetary liability of

the issuing department.

Which of the above is/are true?

(1) Both Statements (A) and (B) are true

(2) Only Statement (A) is true

(3) Neither Statement (A) nor Statement (B) is
true

(4) Only Statement (B) is true

(5) Question not attempted

Statement (B):

116.

117.

i el ™
ol | =
r r
- ]

118.

RIoTdId! & Hed # e § § By Fue 9

{4

(A) RSP HRERI &7 996 SAET B
fauor # gfaen wem Fxar 2

(B) RISRIIBI &g JEFN B HH & @R W

WEIAT W& el 2 |

(C) I8 IR Bl HIT &I <& gy fours A
el oM Ud AE dbld P HIY AU
JATGT BT U B BT YATH HaT & |

(D) T8 M Y= §SEl & A W e
%ﬁm/mﬁﬁaﬁw
HATG TS HRaT § |

I feT T e &7 TR TR §Y A& SR B

A DI —

(1) s9a (A), (B) 3R (C)

(2) (A), (B), (C) 3R (D)

() @aa (A), (C) 3R (D)

(4) @9et (B) 3R (C)

(5) srgaiRa o=

T AT @ R agdeTr R geied

HIATeY (SLTHZS) BT o g8 o —

(1) Rra=R 2015 &

(2) siler 2019 §

(3) Ryawx 2014 %

(4) ¥ 2021 |

(5) srg=iRa e

IRAT Rod 9 & IR § A= oo ) ==

- R -

PYF (A): IRA H TH BT & A AR Ry
Hfed THE H&T BT AN XA drell
TF A WRBNT TR Rerd § 2

T (B): RGd 9 gR1 5y 91 1€ 5o g
ol fovmr & Aifge <warg €

SR ¥ P/ T &/

(1) 29 (A) 3R B (B) eFf |7 &

(2) BIer PO (A) T 2

(3) 7 &1 o (A) IR T & P (B) v &

() DI HUF (B) ¥ &

(5) 3rqeiRe wes
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119. Which of the following is the main aim of 119 JGRIM T TR FR&T TG WM IISTT BT

120.

121.

122,

Pannadhay Suraksha Evam Samman Yojana of

Rajasthan?

(1) To encourage those working in the field of
women empowerment

(2) To empower women through ‘Mission
Shakti’ -

(3) To empower
development

women through skill
(4) To empower women through ‘Sathins’

(5) Question not attempted

High rate of inflation with high rate of
unemployment is called -

(1) Demand-pull inflation

(2) Structural inflation

(3) Cost-push inflation

(4) Stagflation

(5) Question not attempted

Financial inclusion is a catalyst for achieving
............... of the 17 Sustainable Development
Goals

M1 @ 12

() 10 4 7

:'ﬁ
"Il"'éi
e el ]

In a Perfect Competitive Market, which of the
following is/are correct?

(5) Question not attempted

(A) Cross price elasticity between the
products of the firms is infinite.

(B) Free entry and free exit ensure that the
price remains the same in the market.

(C) Homogenous and identical product

ensure that the firm will make only
normal profits in the long run.

Code -

(1) Only (A) is correct

(2) Only (B) and (C) are correct

(3) Only (A) and (B) are correct

(4) (A), (B) and (C) are correct

(5) Question not attempted

120.

e BT T W &

(1) Afgar weiheRer & 85 § BRI H qrall
DI AT BRAT

(2) e wfdd & #Arew | AR FeRpao

(3) <& & f9eTa ¥ Afgen wehdor

@) | & "AegH W g FeRhdRor

(5) Sr<IRa we

RIS B I T D AT Wil BY 92 T

- PEAN & —

121,

122,

(1) #f7 aRa wHifa

(2) S¥Ea S D

(3) aArTa—uRT I

(4) g

(5) srgaRa ueA

o waaer 17 gurefi ot & 9

el B wd & oy SoR® € |

M1 (2) 12

(3) 10 4) 7

(5) srgalRa e

ool wfcarRft aeR # 9§ 9 sEar/d 98

g/%8°

(A) BAI & AR © 19 BT [RST S A
=T BT & | :

(B) = ¥4 3R wWaH afeiaa I8 gRkeEa
AT & b IR d $Hd e FE A g
gl

(C) WO R TEHEEE SE g g
X & 6 w4 Sredfara 3§ o I A
HATI |

7 - :

(1) dacT (A) T 2

(2) @aer (B) 3R (C) 9&! &

(3) Baet (A) AR (B) 98T ©

@) (A), (B) 3R (C) wer &

(5) argaIRa WA
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123. RBI’s Monetary Policy Committee in its meeting ~ 123. yReig Rord ¥ @ #ifgs -Afg wfdfy ¥ 7 sk
held from 7 April to 9 April, 2025 ¥ 9 3)d, 2025 BT §F AU V6B H...oooooc

decided................to  reduce repo rate P e I
Wit Brindis HETPR BEe fhar
(1) sgad 9, 6 uforera
M b jority votes, 6 t ;
(2 uﬁarﬂf,forfm’g oﬁe;m:;r o (2) gdF=fT ¥, 6 ufoera
: (3) ggad &, 7 wfcrera

(3) by majority votes, 7 percent
(4) unanimously, 7 percent

(4) wda=fy |, 7 vfoeE

(5) Question not attempted (5) SrFeRa we
124. Tn order to obtain personal income from National 124 (171 3y ¥ &fdvTd o9 Wi &9 @ forg,

Income, we must - _ ¥ —

(A) add to National Income, those incomes (A) T AT H ST AT B ST BN, W
which are earned but not received. T @1 T § A w7 g8 2

(B) subtract from National Income, those (B) NI 3T | S AT BT °SHET BT, S
incomes which are received but currently WS O g8 & offed qane H aifera el
not earned. :;ﬁ GRS

Choose the correct option - S A ! eeg g+ —

(1) Both (A) and (B) are incorrect (1) (A) 3R (B) 3HT Tora & |

(2) Only (B) is correct (2) BaeT (B) 9T &

(3) Only (A) is correct (3) BaeT (A) W 2 |

(4) Both (A) and (B) are correct @) (A)3R (B) 3T w&r & |

(5) Question not attempted (5) 3R e |

125. For the education and research of specially-abled 125 feariomt &t Ren vd srwu @ g amn
people, Baba Amte Divyang University has been A R fivafemers @ vemgr &) TS & —

established in -

(1) Ajmer (2) Jodhpur (1) sromR # (2) Sierge 3
(3) Jaipur (4) Bikaner (@) wagR A (4) dorR A
(5) Question not attempted (8) srgafa wes
126. Consider the following about the short-run 126. e HfoERfl & & ercqdei 9™ & IR A
equilibrium of a competitive firm and select the =1 &1 e SR T A feu Ty He Pl
correct answer using the code given below - SUIRT B S EIRSS ETF'TQ =
(a) P=SMC (a) P=SMC
(b) SMC must be non-decreasing (b) SMC &= =&} &
() P>AVC (c) P>AVC
(d) P>AFC (d) P> AFC
Code - He -
(1) Only (a), (b) and (c) are correct (1) 39a (a), (b) 3R (c) GET &
(2) Only (a), (b) and (d) are correct (2) Bad (a), (b) 3R (d) 9L &
(8) All are incorrect @) ot e & ‘
(4) Only (a) and (b) are correct (4) Bad (a) 3R (b) T &
(5) Question not attempted (5) sraRd g
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127.

128.

129,

As per the number of domestic tourists visited
Rajasthan, which of the following district was on
the top in the year 20247

(1) Ajmer (2) Chittorgarh

(3) Sikar (4) Jaipur

(5) Question not attempted

Match List-I with List-II and select correct
answer using codel given be_low <

List-I Lt '
(i) Survey Meihod of Demand Forecasting

(i) Time Series = Method of Demand
Forecasting .

(iii) Smoothing // Techniques of Demand
Forecasting

(iv) Delphi Method 6f Demand Forecasting
List-1T

(a) Based'on the average of past values of
demand ;

(b) Based on opinion of experts

(¢) Short-term Demand Forecasting

(d) Based on past observation of data

Code -

(1) (@)-(a), (iD)-(b), (iii)-(c), (iv)-(d)

@) (@)-(d), (i)-(c), (iii)-(b), (iv)-(a)

@) (@D)-(c), (iD)-(a), (iii)-(d), (iv)-(b)

(@) (@)=(c), (iD)-(d), (iii)-(a), (iv)-(b)

(5) Question not attempted

22

‘Which of following statement/s is/are correct

about PM-Surya Ghar : Muft Bijli Yojana?

Select the correct answer using code given

below - A

(i) It was launched on 15 August, 2024.

(1) It will benefit 1 crore households across
India. .

(111) Its total investment is over ¥ 65,000 crores.

(iv) It will provide 300 units of free electricity
every month to every household.

Code -

(1) Only (ii) and (iv) are correct

(2) Only (i) is correct

(3) Only (i), (ii) and (iii) are correct

(4) All are correct

(5) Question not attempted

127.

128.

129.

RISTRIT # 37T dTel Rl el o gfe & ad

2024 % =1 § & Biwar e i w® @

(1) 3R (2) fRrireTs

(3) W (4) SRR

(5) gk wee '

-1 &1 A1 ¥ fram Iy v = Ry

Y B B SUANT B Fal IR AT —
-1

(i) HT gaigas @) wdeor fafy

(ii) T gatgAe @1 ool fafy

(iii) AfT gaigas &1 W fafy

(iv) ANT qaigae &) St fafdy
A1

(a) M & faTa Jeai & g o) smRa

(b) fagmsi @ I R SmEnRa

(c) HIT BT AeqPIfered YargArT.

(d) Tl & fara qoai w amenRa

Hz\?‘ — -

(1) (D)-(a), (ii)-(b), (iii)-(c), (iv)-(d)

(2) (D)-(d), (ii)-(c), (ii)-(b), (iv)-(a)

3) (D)-(c), (iD)-(a), (iii)-(d), (iv)-(b)

@ (i)-(c), (ii)-(d), (iii)-(a), (iv)-(b)

(5) S<IRT uw

=1 & | B/ $oF flva—gd W g

fasTetl Ao & IR W | 2 /2? 9 Ry 1w

BT BT YA BRI §Y FE SR Y —

(i) IT® 15 AT, 2024 BT IR &3 |

(ii) ¥8 < ¥ 1 HRre URIRY BT erwifad Hft |

(iii) S B P 65,000 PRI T B 2|

(iv) I8 Y% URAR P GREE 300 HE
fasrelt 9o us™ v |

@' —

(1) Saa (i) T (iv) FE &

(2) Baa (i) TE ?

(3) @aa (i), (ii) TAT (iii) TE &

(4) |41 wEl B

(5) SrgaiRa g
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130.

131.

132.

133.

Which of following statements are correct?
Select correct answer using code given below -

(i) NITI Aayog is the nodal agency for Multi-
Dimensional Poverty Index for India.

(ii) NITI Aayog has prepared India’s National
Multi-Dimensional Poverty Index taking
10 indicators.

(iii) NITI Aayog is the nodal agency for
Sustainable Development Goals for India.

(iv) NITI Aayog prepared the North-Eastern

Region District Sustainable Development
Goals Index for nine North-Eastern states.
Code -
(1) (1), (i), (iii) and (iv) are correct
(2) Only (iii) and (iv) are correct
(3) Only (i) and (ii) are correct
(4) Only (i) and (iii) are correct
(5) Question not attempted
If statutory Cash Reserve Ratio (CRR) is 0.2,
Excess Reserve Ratio (ER) is 0.1 and People’s
Cash Withdrawal Ratio (PR) is 0.1, then what
will be the value of credit multiplier?
(1) 1.5 (2) 3.33
(3) 5 (4) 2.5
(5) Question not attempted

Match List-I with List-Il and select correct
answer using code given below -

List-I List-II

(i) Money supply (a) Stock Variable -
(i) M1 (b) Flow Variable =
(iii)M3 (c) Most Liquid ki,
(iv) M4 (d) Least Liquid

(e) Aggregate Monetary

Resources

Code -

(1) (@)-(a), (iD)-(e), (ii)~(d), (iv)-(c)

@) (D)-(a), (i)-(d), (iiD)-(e), (iv)-(c)

() (@D-(b), (ii)-(c), (iiD)-(d), (iv)-(e)

@) (D)-(a), (i)-(c), (iii)-(e), (iv)-(d)

(5) Question not attempted

The Kalibai Bheel Research Institute of Women
and Child Development was established in 2021
at -

(1) Udaipur (2) Barmer

(3) Chittorgarh (4) Jaipur

(5) Question not attempted

i -
& e
| sl

130.

131.

132.

133.

=1 4 9 o9 we W 2 i Ry U ge

e

(i) HRA & TEIMAT TR JaDbliD
@ fore wirser voidl 21

(i) T ARFT 7 10 GABIBI BT @dY 4R B
ﬁaﬁmﬂﬂ%ﬁwzﬁrﬁﬂh

|

(iii) T TRIRT 9RT & FeRoig e & el
% fog s ol 2|

(iv) Sifd SMIET A A ITR—ydl wedt @ forw
SIR—gdl &7 e durefr fAem o
B GAFBID TR fHar ] |

H'g\_cf-

(1) (), (i), (iii) TAT (Qiv) TE &

(2) Pae (jii) TAT (iv) TEhE

(3) Baet (i) TT (ii) WL &

(4) Had (i) T (iii) T2 &

(5) Srg<IRa g ;

af dnfe @¥el B U (CRR) 0.2 87,

arfeRad Refd o gura (ER) 0.1 8 @1 ARTE @l

doe ARl &1 3gurd (PR) 0.1 81, o @@

OIH BT A FIT BAIT?

(1) 1.5 (2) 3.33

3 5 , (@) 25

(8) sraRa we

a1 & G-I | G diforg aeim =i QY

MY G $T SUANT FRS el IR gy —
a1 Sl

() 951 B g (2) Wi W

(i) M1 (b) T8 =R

(iii) M3 (c) HaifeF TR

(iv) M4 (d) 999 H9 IR

(e) 9T #Hifgd G
@' et
(1) (@@)-(a), (i)-(e), (iii)-(d), (iv)-(c)
() (i)-(a), (i)-(d), (iii)-(e), (iv)-(c)
() (i)-(b), (ii)-(c), (iii)-(d), (iv)-(e)
(4) (i)-(a), (ii)-(c), (ii)-(e), (iv)-(d)
(5) 3rgiRa ue
2021 ¥ BroiEg Wi Afger vd arer e o
TRRATT B WRIUAT &f T8 off —

(1) SeagR ¥ (2) areR H
(3) fexitsTTe & (4) SIgR |
(8) argafRd U
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" 134,

135.

136.

137.

138.

139.

Which major crop of Rajasthan has not been

correctly paired with the position it has attained

in production with respect to other states in the

country for the year 2022-23?

(1) Bajra - First

(2) Gram - Second

(3) Soybean - Third

(4) Groundnut - Second

(5) Question not attempted

When was the State Evaluation Organisation set

up in Rajasthan?

(1) On I* April, 2015

(2) On 30™ September, 2005

(3) On 1* January, 1991

(4) On 1* April, 1960

(5) Question not attempted

What is the objective of Kalibai Bheel Udan

Yojana being implemented in Rajasthan state?

(1) To provide free sanitary napkins to women
and girls aged 10 to 45 years.

(2) To provide free education to girls of
backward sections of society.

(3) To provide reservation in jobs for SC and ST
girls.

(4) To provide financial assistance to women to
start their business.

(5) Question not attempted

On which of the following river Navnera
Barrage Project is constructed?

(1) Chambal (2) Kali Sindh

(3) Som (4) Mahi

(5) Question not attempted

Which of the following Institution acts as the
custodian of the India’s Foreign Exchange
reserves?

(1) Finance Ministry

(2) Foreign Exchange Department of Gol
(3) Reserve Bank of India

(4) Commerce Ministry

(5) Question not attempted

NITI Aayog is a -

(1) Constitutional Body(2) Statutory Body
(3) Judiciary Body (4) Executive Body
(5) Question not attempted

134.

:3
::-r.::i

135.

136.

RISTRI &1 BT T el Bl 98 2022-23

4 Q¥ B A ST B AT A IR § I

RIM & AR gAfora =@l far w82

(1) 9= — 92M

() ==7 — fgdi™ :

(3) e — g

@) Frpel — R

(5) Ig<IRT U :

ORI # 50 qATH F6H Bl RATIT e

g8 o1

(1) 13, 2015 @7

(2) 30 fawR, 2005 BT

(3) 1 SHawT, 1991 &1

(4) 1 3nier, 1960 B

(5) srgaRa wed

ISR 99 H fharfaa &1 W1 Y87 Sreids

AT S AT BT FT I 7

(1) 109 45 99 @& Azl &k fFoRal @
A9 e AufhT yaT &R |

2 wa & fUss a7 oI dsfhal & Nyes
R ue™ AT |

@) syl wifa &R ergfaa Seenfa @
qIfeTp13ll BT RSHTR ¥ 3RETOT U ST |

 (4) AfEeel BT U AT IYE B B (o

137.

138.

139.

fa<iig F8mar ue™ BT |
(5) argeRa e
= A 9 B9 98 w® 99T 9 RIS @1
et foear Tar 87

(1) o= (2) et e
() |m (4) =1
(5) 3rgiRT U

o= & 9§ DI T WRa & fageh qu1 wosR
S RGP BT BRI Pl 87

(1) fog w=re™

(2) wRa PR o1 facel ga1 fawmr

(3) g Red ¥
(4) Tiftrsg Hamery
(5) srgaRa we
e 3T ' —

(1) Gt fHer
(3) =R Mg
(5) srgaRa we

(2) denfae fFom
(4) ao‘l?i?m’rﬁ‘cﬁrq
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140.

141.

142.

- 143.

RCEESI framework analyses six criteria in the
evaluation of Govt. Schemes and Policies.
DMEO of NITI Aayog added one another
criteria in this framework looking to the Indian
conditions. That is -
(1) Suitability

(3) Equity

(5) Question not attempted

What is the full form of FTP?
(1) File Transmit Protocol

(2) File Transport Protocol

(3) File Transmission Protocol
(4) File Transfer Protocol

(5) Question not attempted

What is the full form of URL?
(1) Universal Replicate Locator
(2) United Resource Locator
(3) Uniform Replicate Locator

(2) Completion
(4) Environment

o

(4) Uniform Resource Locator
(5) Question not attempted

Which of the following statements are correct
regarding Supervised Learning in Artificial

~ Intelligence?

144,

145.

(A) The input and target features are given.

(B) Input features are given but target features
are not given.

(C) Training examples are given.

(D) Training examples-are not given.

(1) (B) and (D) are correct ;

(2) (A) and (B) are correct

(3) (A), (B) and (C) are correct

(4) (A) and (C) are correct

(5) Question not attempted

In MS Excel 2010, which feature helps us to

quickly and intuitively drill down and analyze

data in Pivot Tables?

(1) Sparklines (2) Formula

(3) Pivot Chart (4) Slicer

(5) Question not attempted

Integrated Data Analytics System developed by

the Government of Rajasthan is called -

(1) Jansoochna Portal (2) SWATAH

(3) PARAM (4) R-CAT

(5) Question not attempted

140.

141.

142.

143.

144.

145.

TRA1.3.3.09.3M8. (RCEESI) @1 6 HIUGUS| &l
fageor srar 81 Ny m & SumIan
(DMEO) 7 ¥Ry Reifddi &1 aw&d 8¢ 39 <
H U% 3R AUSvS ISl 2| I8 § —

(1) SughHar (2) FHIT
(3) THar (4) ggiqeor
(5) SrgIRa ueA

FTP & fawga =9 & 87
(1) w3 grNfe gieidid

(2) wIsa giFUIe Wbl

(3) Bz TrafEE Ueiaid
(4) Brga TABR Weidlal

(5) . argaRa ueA

URL &7 foxqqa 9 @am 87
(1) FFada fawe ddex
(2) FAETs RE didex

(3) FFHMH Made by
(4) gfamH REN dldex

(6) sraRa =

AfEfsine gefomia ¥ guRamss affT &

- Hey H FrEfaRad § ¥ B9 $UF Hal 27

(A) $Ye 3R TRie B g o € |

(B) $79c BI¥ U S & ifdbs] eRAE B
el fay @ 8 |

(C) wfReror Sgrexvr iy 9 & I

(D) 9f¥reror IgTExT T8l Ay W

(1) (B) 3R (D) TS &

(2) (A)3iR (B) W& &

(3) (A), (B) 3R (C) g8 &

@ (A)3R (C) T &

(5) SrgeIRe w3

THUE. TaHd 2010 H, ST ®eR 84 fae
g H ST Pl Sleal AR WEw e J e
SIS 3R fAvamor ox+ # deg Hear 87

(1) wrpersT (2) Biem

(3) fige = (4) FIEER

(5) IraRd e

JOTRIF ORGR §RT §9-—T AT 3Ehes Sl

vATferfedy Req & —

(1) SFRET Odd () v
@) e (4) sm—dc
(8) IrgxIRT U
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146. Which of the following is not a type of Malware?
(1) Spyware (2) Trojan Horse
(3) Suware (4) Adware
(5) Question not attempted

147. Which of the following provides e-learning

courses and online training for government
departments in Rajasthan?

(1) Raj-LMS

(2) Mukhyamantri Work from Home

(3) FTTH

(4) Raj CAMS

(5) Question not attempted

148. Which of the following is the shortcut key to

‘redo the last action’ in MS PowerPoint?

(1) Ctrl+z (2) Ctrl+y
(3) Ctrl+x (4) Ctrl+k
(5) Question not attempted

149. Where can you find the option to ‘Protect

Workbook’ in MS Excel?

(1) In “View’ (2) In ‘Review’
(3) In ‘Data’ (4) In ‘Insert’
(5) Question not attempted

150. Which of the following is not an option available

in ‘Layout’ menu of MS Word 2010 and higher
versions?

(1) Hyphenation (2) Line Number
(3) Break (4) Design
(5) Question not attempted

146.

147.

148.

149.

150.

frefeRad § SIF AIT9dR BT UH USR TEI 27?
(1) \ERR @) gior B

(3) TR (4) SRR

(5) IrgaRa wed

e & A BT ORI B RN AT Bl
§—dT B T g SfHT <ar 87

(1) IIS—Te.ua.Tg.

(2) qREFE 9% B W

(@) i

(4) IS HIUUHUE.

(5) argRd ue

fr=fafaa 4 9 e wiidde gofl gHTw.
ureRUlge ¥ IS e g IR B forg v
P AN B?

(1) Ctrl+z (2) Ctrl+y
(3) Ctrl+x (4) Ctrl+k
(5) 3rg<IRe U

TATE. U H UIcae dhgd’ Bl by wel
9RIT ST 87

1) =g & (@) Reg ¥
(3) <er # @) g ¥
(5) SrgaRa we

TIE. 98 2010 9 IS SoadR R &
WA W W T H W BT fAded Syerer
&t 27

(1) EsH-H (2) A AR
() 3% (4) feqmg
(5) SrgaIRe ue

H,
- g
oA
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